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A, Bl Hh5tel A + B ©] ghe?

D 55 @ 50 ® 46 @ 42 ® 38
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@D x2+2xy +y? = (—x +y)?

@ ax-bx-a+b=(a-b)(x+1)
@ x+x-6=(x-2)(x+3)

@ 6x2—x-1=(2x+1)(3x-1)
® 2 42=(x-V2)(x+ V2)
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V2=a, V3=b Vb=c, VI=d
Abgste] L7

@ abced @ a’bc

@ a?bed ® a®bcd

® abc?d



10. axb=alb+1+ Vg),a*b:ab—ai/%b 2t o, V6 (V3 x V2)

£ 7hds] 5h?

D 1+3V2 @ 1+3V3 ® 2+3V2

@ 2-243 ® 3+3V2
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D V6+2<V6+3 @ 4-VT<2V7-2
® 2V3+3<6V3-5 @ 25— V8 < V20 +3+2

® 3+ V3<10- V12



12. o Bt AFTEY Aol thg F Fol BE olgstel 1
A T 5 A AL
a2 0 1 2 3
40 6.325 | 6.332 | 6.340 | 6.348
41 6.403 6.411 6.419 6.427
42 6.481 | 6.488 | 6,496 | 6.504
43 6,557 | 6,565 | 6,573 | 6,580
® 6.431 @ 6.287 ® 6.573 @ 6.590 ® 6.661
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14. 2x+a)(bx-3) =82+ cx- 9L W, FFa, b, c S Fa+b+c
o) he?

@ 11 @ 12 @ 13 @ 14 ® 15



15. (x-3y+2)2& A7|stH?

@ x24+9y? +4—6xy +4x— 12y
@ x?43y* +4—6xy +4x— 12y
® x2+3y2+443xy-2x+6y
@ x% +9y? +4-3xy +2x -6y

® x2 43y +4-3xy+2x—6y
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- 1) (x4 2)(x + 4)(x + 7) & AINANA x2 o] Aot AFeTo
29
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® -19 @ -2 ® 8 @ 14 ® 28



17. 2% +ax-3 | F Ap7b -1 & o, A< a o 27

® -1 @ -3 ®1 @ 3 ® 4
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18. x*-10x% +99] 157} ofd A27

D x-1 @ x+3 @ x2-1

@ x+9 ® x*-10x2+9
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Al

T AL ab7ta= V8-3,b=-\VT+ V8L U, t}e F &L
229
D a-b>0 @ b-a<0 ® b+ V7>3

@ ab>0 ® a+1>0
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X -x?4+2x-2=(x-1)(x* +2)
@ xy-x-y+l=(x-1)F-1)
® xy-2x+y-2=(x+1)(y-2)
@ Px+1) -4+ 1) =(x+1)(x+2)(x-2)

® ab+1)-(b+1)=(1~-a)(1+b)



